7445

#ERNZA / Components
BT =HhILT—%4 / Technical Datall No. 2 ¥ / Part name #E / Pcs #E / Material & - RMEMIE / Color+Finish
a—F—Javy TILEH A4 Fr Xk ADC12 DIbN— B (REMELE)
'ﬁﬂq‘F)bg / Recommended torque 1 Corner block 4 Diecast aluminium ADC12 Silver-Painted (Unfinished inside)
A TUTARILEM3x10 / Hexagonal M3-10 : 0.2N=m 9 {8l ) TILEH AT A6063S-T5 D )LN—- 2R (NERRILIR)
Frame Extruded aluminium A6063S-T5 Silver-Painted (Unfinished inside)
% TF51EF~M2.5x7 / Captive pan head M2.5-7 : 0.15N*m ~ 0.2N*m 5 IL—L A 7 LS AB063S—T5 S ILN—- A (R ALEE)
R Panel support frame Extruded aluminium A6063S-T5 Silver*Painted (Unfinished inside)
ZDHE R / Other screws : 0.3N*m ~ 0.6N-m ) AL ) LIk AT100P L 2% EEEALE)
Panel Aluminium A1100P Silver+Painted (Conductive inside)
5 HR— 1 7 LR A1100P DbN—- FE (EEEENE)
Top cover Aluminium A1100P Silver+Painted (Conductive inside)
6 THhi— : 7 ILZHR A1100P DIbN— RE (EEEELE)
Bottom cover Aluminium A1100P Silver-Painted (Conductive inside)
. a—F—H—F o TPE (TS5AFY) T390, Jb—, #AE—, LK
Corner guard TPE (Elastomer) Black , Gray , Navy , Red
o EMCY—ILRA R wb 16 BB (UL94V-0) ARy HTL—
EMC shielding gasket Conductive fiber UL94V-0 Metallic gray
9 B{TE X (M3 x 8) 16 £V Zur LAY
Screw (Flat head M3 - 8) Steel Nickel plated
10 BFTE X GRATATARILEMS x 10) o &% SEEsAaA—k
Screw (Hexagonal M3-10) Steel Black trivalent chromate
» MFER (RAFAE M3 x 5) 4 % =9ILAvE
Screw (Original trapezoid hex head M3 — 5) Steel Nickel plated
1 RATER CETFRHLEFM25 x 7) i % =L AvE
Screw (Captive pan head M2.5 - 7) Steel Nickel plated

F view ?
* §
J)
=2
D\
- \ o
8 * \ 5
1
2
12
v 7
o~ I ‘ & fy
e\ 10
TP °
[}
fnd/Title
TAKACHI e ANTFEMRT g LR ©|:]
iR (BUFEREDODQ) / Color Type(End of product numberd ) BRAIUIDTERIR A—F—A—RHFHEMCY— LT —2R
g - — — TAKACHI ELECTRONICS ENCLOSURE CO., LTD. EMC SHIELDED ENCLOSURE with CORNER GUARD
25 / Code | ZILZH—X/ /?\Iummlum enclosure :I—‘)‘—?J—I* / Corner guard =y —— R, Cheoked TR, Oroatod FIE Product namber RIE/Scale
S B < JLiN— / Silver 75w% / Black
S G S JLIN— / Silver HL— / Gray FiR £ Bl AUGE133-43-25-001 s v
SN < JLsN— / Silver RAE— / Navy :
S R < JLiN— / Silver LYK / Red {YER B /Date 2022/12/12 1 /7 17

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




B-B(1:6)

1325+ 05 (r— A4 2 / External)

D view

203

250+ 0.5 (r—R4\ 2 / External)

144.5

E view

430+ 0.8 (r—R 45 M2 / External)

A view

438

F view

50
R24

50

R52

A-A(1:6) C-C(16)
10 10
S 2
236 422
C view B view
258
= E
LT
N
E g
Lo
N
fnd/Title
BASUINTEHIX a—F—H—RFEMCY — LR —2 O]

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

EMC SHIELDED ENCLOSURE with CORNER GUARD

7 5%/ Approved

iR

#%[X|/Checked #I[X/Created

ES il

FIE /Product number

AUGE133-43-25-0101

RE/Scale
1:6

{ERL B /Date

2022/12/16

R— /Page

2 /17

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C fAl#x / C Frame

131.5

XM / Front side

D {8l#% / D Frame

XM / Front side

200 22.5

125.2

3.2

33

33

3.2

<
- ' ol
————— |

2-M3AHY IR
2-M3 Countersunk
¥ R*¥EHEHE / Same on the other side.

251 / Back side

Z1H / Back side

B2/ Title
TAKACHI] #RXaitanFE@TE Bl @]==
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
#2/Approved #R[X|/Checked #[X]/Created #4%/Product number RE/Scale
1:3
iR x (320 P =y
H133 - D250 e B/Date  2023/01/05 3 /1

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




16

225

356

6.5

3-M2.5

380 5.5 10.5

Lo\
2, &

ST
14
3

2-M3FHH 7%
2-M3 Countersunk

£t47K / Total 4 pieces

i Title
BRARHIHFRETE | ors O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel support frame
A2/ Approved #R[X|/Checked HX|/Created F& /Product number RE’;‘/iC;‘e
iR z 4T —
W430 1ERLH/Date 2022/11/16 4 /1
AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /N2RJL / A Panel

379.5
& ()
[=2]
2 (1]

AE#~ti%k / Max dim.372+ 0.5

XM / Front side

B /A% JL / B Panel

XM / Front side

BH#TiE / Max dim.98.6+ 0.3

3.5 2

356

1115

RE—MA

Surface protective film side

6-M25FARILR—T
6—Metal sleeve for M2.5

251 / Back side

fREEL— M

Surface protective film side

251 / Back side

fad/Title
TAKACH) #=&#snF BRI R o]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
2 /Approved #&[X/Checked #[X]/Created F& /Product number RIE/Scale
1:35
iR ES it R—T/Page
H133 — W430 YERLH /Date 2022/11/16 5 /17

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7
<

: o
g J

M@ / Front side

419.4

400

A% / Max dim. 383+ 0.5

6-4.5

AH#hTi% / Max dim. 203+ 0.5

fREEL— M

Surface protective film side

2@ / Back side

w4/ Title
TAKACHI| #XK#H2HhFERIE H8— @ CI
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. TOp cover
732/ Approved &/ Checked BI[/Created | E4&/Product number FRR/Scale
1:4
iR ES it R—T/Page
W430 - D250 ¥ERB/Date  2022/11/16 6 /7

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7
<

: o
& v

R / Front side

419.4

400

A% / Max dim. 383+ 0.5

6-4.5

AH#hTi% / Max dim. 203+ 0.5

fREEL— M

Surface protective film side

ZEME / Back side

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

a/Title
THhi—

Bottom cover

o]

755/ Approved #R[X|/Checked #[X]/Created #4%/Product number RE/Scale
1:4
iR ES it R—T/Page
W430 - D250 fEfiA/Date  2022/11/16 7/7

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




